
Convertis dans l’unité demandée.

81 cm² = …… mm²
6,7 cm² = ….. mm²
301 dm² = ….. cm²
0,99 cm² = ….. mm²
1,9 km² = ….. m²

1,234 m² = …… dm²
0,5 km² = ….. m²
2245 mm² = ….. cm²
431,9 mm² = …. cm²
1,6 dam² = …. m²

Convertis : 
en m² :   0,47 km² =          65 dm² =                25 000 cm² =        
en km² : 10 000 m² =        8 200 000 m² =
en cm² :  8 dm² =              600 mm² =             3,25 m² =        

                                                             
                                             


